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Appendix E: Arc Flash PPE Category Method & PPE Selection: 

          NFPA 70E Table 130.7 (C)(15)(a), 130.7 (C)(15)(b), 130.7 (C)(15)(c) 
 
Calculation for fault current at the transformer secondary lugs: 
Fault Current (A) = (TR kVA / (1.73 x TR Secondary L-L kV)) / (TR Impedance %) 
Example Calc.: Fault Current of 500kVA 4.16kV-208V, 5.75% transformer  
= (500kVA/ (1.73 x 0.208)) / (0.0575) = 24,136 A = 24.14kA 
NOTE: when comparing fault current to the 130.7(C)(15)(a) & (b) table maximum 
allowable values, the value must be under a 10% margin. 
 
Table 1: 
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